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> 2. nat1

1.0e+16 *

0.0000
0.0000
0.0000
0.0000

>> matl. ‘mat3

>> y=log(10)

5
.
2.3026
EETEUSESEES > yeloglo(10)
.

8014
. 0000
. 0000
. 0000

0.0000
0.0000
0.0000
0.0000

v P

T ®

= & NE EAE

ans. )

3 3 3
i 4 4 4
mat Seix3 double 0 1
mat1 Sx4 double 0 0
mat2 x4 double 1 1
mat3 x4 double 0 4
matd 6x6 double 2 3
mats 5x5 double 1 6
mat6 3¢ double 2 7
n 0 0 0

n 32000 32000 3.2000
n2 4 4 4
x Sx4 double 0 1
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iz BEESHAESTHRARE

>> y=log([5:8])

5=

1.6004  1.7918 19450  2.0794

> yexp(1:3)

5=

2.7183  7.3891  20.0855

>> round(65.57)

66

>> mat=[1462632176254515147]

mat =
104 s 6

3 2 T 5

% 1 5 14 7

B
® x || IfE ]
& NE BAE
| 4 ans [
i 3 ERN
i 4 4 4
mat Svdx3 double o 1
mat! x4 double o o
mat2 x4 double 1 1
mat3 it double o 4
mata 646 double 2 3
mats 545 double s
mat6 3wt double 27
n o o o
nt 3.2000 32000 3.2000
n2 4 4 4
x 544 double o 1
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3> clear a1l mat Svdx3 double o 1

mat! x4 double o o

mat(,5,D=[0110:1001:1111:0110:0100

G D=t ! mat2 x4 double 1 1

mat(:,,2)=[0110:0000:1010:0101:1110] ts Tt ool P

mat(:,,3=[0001:00101001:0110:1101] matd 646 double 2 3

nat mats 545 double 1 5

mat6 3wt double 27

mat(1) = " ° 0o 0
nt 3.2000 32000 3.2000

n2 4 4 4

x 544 double o 1

mat (:,:,2)

mat(:,:,3) =
o o 0 1
= o o 1 o
10 0 1
o 1 1 o
O
EETEUSESEES > size(mat)
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> mat(:,:,1) ~ i 4 4 4
mat Sxdx3 double o 1
s = matl 54 double 0 0
mat2 5x4 double 1 1
mat3 4xd double o 4
0 1 1 0 matd 6x6 double -2 3
1 0 0 1 mat5. 5x5 double 1 6
1 1 1 1 mat6 3x4 double 2 7
oo n Sa0 Sa000 5200
0 1 0 0 n2 4 4 4
x 5x4 double o 1
>> x=mat(:,:,1)
o 1 1 o
10 0 1
111
o 1 1 o
o 1 0 o
>> mat(l,:,:)
ans(:,:,1) =
o 1 1 o
ans(:,:,2) =
wEEE v
o 1 1 o
ans(:,:,3) =
o 0 o 1
> mat(:,1,:)
I3 v
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> mat(:,1,:)
ans(:,:,1) =
o
1
1
0
0
ans(:,:,2) =
o
0
1
0
1
ans(:,:,3) =
o
0
1
0
1
e v > mat(,2,1)
ans(:,:,1) =
1
0
1
1
1
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ans [

i 3 ERN
i 4 4 4
mat Svdx3 double o 1
mat! x4 double o o
mat2 x4 double 1 1
mat3 it double o 4
mata 646 double 2 3
mats 545 double s
mat6 3wt double 27
n o o o

nt 3.2000 32000 3.2000
n2 4 4 4
x 544 double o 1
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BEVHUSEHEES
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>> matl=zeros (5,4)

matl =

>> mat2=ones (5, 4)

mat2 =

>> mat3=rand(5,4)

mat3 =
0.8147  0.0975
0.9058  0.2785
& 01270 0.5469
0.9134  0.957
0.6324  0.9649
>> rand(1,5)
0.6557  0.0357

. 1576
706

. 4854
8003

0.8401

. 1419
. 4218
. 9157
. 7922
. 9595

0.9340

0.6787

B

]
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[

3 ERN
i 4 4 4
mat Svdx3 double o 1
mat! x4 double o o
mat2 x4 double 1 1
mat3 it double o 4
mata 646 double 2 3
mats 545 double s
mat6 3wt double 27
n o o o

nt 3.2000 32000 3.2000
n2 4 4 4
x 544 double o 1
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@ % MATLAB TRBIALE, = | 4 ans o Lo,
0.7577  0.Tan 0322 0.1712 i 4 4
mat Sxdx3 double o 1
g . mat1 5x4 double o o
> rand( seed, 0
¢ - g mat2 5x4 double 1 1
randpern (5) mat3 4x4 double o 4
matd 6x6 double -2 3
ans = mat5. 5x5 double 1 6
mat6 3x4 double 2 7
2 13 4 s n o o o
m 32000 32000 32000
n2 4 PR
>> rand(’seed’, 0) x 5x4 double o 1
randpern (5)
2 13 4 s

>> rand( seed’, 0)
»1

8

>> rand( seed’, 1)
>> randpern(6)

>> mat3=zeros (4)

mat3 =
BEVHUSEHEES
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> for i=l:i4 i 4 4 4
mat3(i,i)=i mat Sxdx3 double o 1
pause mat1 ¢4 double 0 0
mat2 5x4 double 1 1
o mat3 4t double o 4
matd 6x6 double -2 3
mat3 = mat5. 5x5 double 1 6
mat6 3x4 double 2 7
S0 o m Sa0 Sa000 5200
‘ ‘ ‘ ‘ n2 4 4 4
o0 0o x S04 double o 1
o 0 o o
nat3 =
10 0 o
o 2 o o
o 0 o o
o 0 o o
nat3 =
10 0 o
o 2 o o
o 0 3 o
o 0 o o
2
nat3 =
10 0 o
o 2 o o
BEVHUSEHEES o0 e
o 0 o 4
>
Lfx > mats=zeros(6) v
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>
>> mat4=zeros(6)
for i=1:6
matd(i,:)=[-20-1123]
pause
end
natd =
o o 0 o
o o 0 o
o o 0 o
o o 0 o
o o 0 o
o o 0 o
natd =
2 0 a1
I
o o 0 o
o o 0 o
o o 0 o
o o 0 o
natd =
5
2 0 a1
2 0 a1
I
o o 0 o
EETEUSESEES o0 e
o o 0 o

v P
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= & NE EAE

ans. )

3 3 3
i 4 4 4
mat Seix3 double 0 1
mat1 Sx4 double 0 0
mat2 x4 double 1 1
mat3 x4 double 0 4
matd 6x6 double 2 3
mats 5x5 double 1 6
mat6 3¢ double 2 7
n 0 0 0

n 32000 32000 3.2000
n2 4 4 4
x Sx4 double 0 1
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>> natb
> for

eros (5)

mat5(i,)=[0 0 1 1 0] |+

11
11
11
11
11

end
nats

nats

mat5(i,)=[0 0 1 1 0)+i

8

2
>> matf=zeros(3,4)
> for i=1:3
for
matf(i: j)=i+j
BEVHUSEHEES end

end

B

]

& NE BAE

[

3 ERN
i 4 4 4
mat Svdx3 double o 1
mat! x4 double o o
mat2 x4 double 1 1
mat3 it double o 4
mata 646 double 2 3
mats 545 double s
mat6 3wt double 27
n o o o

nt 3.2000 32000 3.2000
n2 4 4 4
x 544 double o 1
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>> nl=2,n2=4.

nl=

> nl=2,n2=4.
nl==n2

nl=

> ni=3.2

if round(nl)==nl

disp(n ia a round number’)
end

fe nt -

B

TR ]

& NE BAE

ans [

i 3 ERN
i 4 4 4
mat Svdx3 double o 1
mat! x4 double o o
mat2 x4 double 1 1
mat3 it double o 4
mata 646 double 2 3
mats 545 double s
mat6 3wt double 27
n o o o

nt 3.2000 32000 3.2000
n2 4 4 4
x 544 double o 1
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[BIE=-0 & NE BAE
@ R MATLAR? BT, : 3= S 3 3
3.2000 i 4 4 4
mat Svdx3 double o 1
- mat! x4 double o o
oz mat2 Set double P
#f round(n)=nl i mat3 it double o 4
disp('n is a round musber’) matd 646 double 2 3
else mats 545 double 1 5
disp('n is not a round number’) mat6 3xd double 2 7
nd n o o o
nt 3.2000 32000 3.2000
n2 4 4 4
n x 544 double o 1
3.2000

if round(nl)=nl

|
iR FSENMEAATEATRENERER

> re3.2
if round(nl)==nl

disp(n is a round number’)
else

disp(n is not a round number’)
end

3.2000

n is not a round nusber
> ni=3.2
if round(nl)==nl

disp(n is a round number’)
else

disp(n is not a round number’)
end
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[BIE=-0 & NE BAE

@ R MATLAR? BT, 3= S 3 3
end i 4 a a
mat Sxdx3 double o 1
. matl 54 double 0 0
mat2 5x4 double 1 1
mat3 4xd double o 4
3.2000 matd 6x6 double 2 3
mat5. 5x5 double 1 6
n is not a round nusber] mats xd double 27
> n=0 n 0 0 0
ey nt 3.2000 32000 3.2000
. n2 4 4 2
disp (') x Sx4 double 0 1
else
disp("bbb’)
o
=0
ifn
disp(nn')
else
disp("bbb’)
end
=0
ifn
disp(nn')
= else
wEEE v
disp("bbb’)
end
x=abd
clear all
nl=1:n2=2:n3<3
L2 &8 nn3

MATLAB R2014a




image1.png
4\ MATLAB R2014a

BAE AR @

4 [ | G Users » Administrator » Documents » MATLAB
ECToy
O &

@ e MATLAB? BT,

>> matl=[1543:215 790

matl =

>> [n,n]=size (natl)

>> matilematl’

matll =

>> mat2-reshape (nat1, 2, 6)

nat2

EETEUSESEES 20t

>> mat2-reshape (nat1, 2, wn/2)

010

v P

€]

& ME B

ans. )

3 3 3
i 4 4 4
mat Seix3 double 0 1
mat1 Sx4 double 0 0
mat2 x4 double 1 1
mat3 x4 double 0 4
matd 6x6 double 2 3
mats 5x5 double 1 6
mat6 3¢ double 2 7
n 0 0 0

n 32000 32000 3.2000
n2 4 4 4
x Sx4 double 0 1
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nat2 =
T4
0o 1

>> mat2-reshape (nat1, 2, wn/2)

mat2 =

>> matls=sortrows (nat1)

matls =
o1 o
154 3
2 1 s
79 0

>> mat3=[1 0 1:1 1 1;0 0 0:0

mat3 =

>> mat13-horzcat (nat1, mat3)

matl13 =
BEVHUSEHEES

3
3

10]

0o 1
11
o 0
10

B

TR ]

B & NE BAE

ans [

3 ERN
i 4 4 4
mat Svdx3 double o 1
mat! x4 double o o
mat2 x4 double 1 1
mat3 it double o 4
mata 646 double 2 3
mats 545 double s
mat6 3wt double 27
n o o o

nt 3.2000 32000 3.2000
n2 4 4 4
x 544 double o 1
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79 0 0
o 1 0 o

>> mati3=vertcat (natl, nat3)

matl13 =

>> matlli-repnat (sat1, 1,3)

matlll =

>> HEREE: repnat

HEFFEE: repnat

|
o IR WAFHTR WAILAE EAREEXFNERFH

>> matlli-repnat (nat1,2,3)

matlll =
BEVHUSEHEES

B

]

& NE BAE

ans [

3 ERN
i 4 4 4
mat Svdx3 double o 1
mat! x4 double o o
mat2 x4 double 1 1
mat3 it double o 4
mata 646 double 2 3
mats 545 double s
mat6 3wt double 27
n o o o

nt 3.2000 32000 3.2000
n2 4 4 4
x 544 double o 1
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>> veet1=[12 3 4 5] mat oxdx3 double o 1
mat! x4 double o o
_ mat2 x4 double 1 1
veetl = mat3 4x4 double 0 4
mata 646 double 2 3
12 3 4 5 mats x5 double 1 6
mat6 3wt double 27
> vect3=[33 45 1] n 0 0 0
nt 3.2000 32000 3.2000
n2 4 4 4
veetd = x 54 double 0 1
3 03 4 5 1
> vect2=[125 8 1]
veet2
12 5 8 1
> veet1=+3
veetl =
3
> veet1+3
2
6
> mat1+3
EEEUSEHES ans =
PR
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BEVHUSEHEES

>
> veet13

6
> veet2rs

5 6 9 12
> veet13

>> matitnat3

2 54 4

3 2 s
79 0

o 2 0

>> mat1s3

162 9

0

0

v P

€]

& ME B

)

3 3 3
i 4 4 4
mat Seix3 double 0 1
mat1 Sx4 double 0 0
mat2 x4 double 1 1
mat3 x4 double 0 4
matd 6x6 double 2 3
mats 5x5 double 1 6
mat6 3¢ double 2 7
n 0 0 0

n 32000 32000 3.2000
n2 4 4 4
x Sx4 double 0 1
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i 4 4
> matl. /zat3 mat Sedd double o 1
matt Set double o 0
_ mat2 Set double P
e mat3 x4 double o 4
matd 646 double 2 3
n mat5 545 double 1
s mats 344 double 2 7
o " Sao0 Sao0 52000
e n2 4 PR
x Set double o 1
> matl. wmat3
10 3
: 1 s
o o o
o 1 o
» 10
100000
5
14 s 16 0%
> matl. 2
EETHISEEES ans =
1 2916
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